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2% = 32

412 = 9

e* =5

log,8 =3

log,0.125 = —3

In2=x

log,5* =4

log,9 =1

log,64 = log,8% = 2

log, 7 =10

log (37) = log,3~* = -3

log,0.2 = log, (3) = log,5™ = -1
olog3T _ 37

VE— /5

logg0.25 = log 8% = —2

In (-i:) —lne! = -1

log,z=5 < z=25=232
log,x=2 < z=10%=100

logzlﬁ =4 & zt=16 &
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T =2

e =y

log,,0.001 = —3
log,343 = 3

Iny =3

log,64 = log,4* = 3

log,49 = log, 72 = 2

log,,1/10 =log (102 = 1

glogs8 — 8
Ine* =4
z = log,16 = log224 =4

10g5$=2 =Y .’L':52=25

log8=3 & =8 & z=8R=4
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